(—HBF A

S 6E6H168 (H)

FERPRAEI—F
1tybwyF /—FENT—U(6—6%214TL—7)

L —FDA1QC1B3B1

BIS—MER2GIARBE R —F AV A 9:00
A/S—hk 1 2 3 B B | B £
KHEA jackarope _ _ _
1 =k 1B ackarope 4-6 6-0 1-1 2
LEBEFE jackarope _ _ _
2 & TR ackarope 64 6—-4 2-0 1
RITZ1E RERERAT
3 0-6 4-6 0-2 3
L EEiE HERERIT
HElEF O1—-2) Q(@nEE—3) OGRYESE)
9:00
B/S—k 1 2 3 B B | B £
==] =P THLARR— LTV R
1 Mz FIF (DAL RMR—LTAUT R 4-6 4-6 0-2 3
BIINBURES  |REARERIT
2 6—-4 6-3 2-0 1
TrZE HERERIT
HIEE HFEDEHETC _ _ _
3 BBk jackarope 6—-4 3-6 1-1 2
HElEF O1—-2) Q(@nEE—3) OGRYESE)
9:00
C/x—k 1 2 3 4 B B | B £
E SRR THLRMR—ILTAVT R 1
1 6—-4 6-3 2-0
it 5 LB ‘A E 12/19=0.63
THE: Re:stert _ _ ~
2 MARRE SPLASH! 4-6 67 0-2 3
FHKRH B ER1T
3 3-6 3-6 0-2 4
Fr L F05E B ER1T
EHlSE [ILEAD) =Y _ _ _ 2
Ylarm= |5x0u=wp 76®) | 63 20| a5
HEEF O(1—-2)Q(3—4)@(1—=3)@D(2—4)
(—HREFA) REL—F AL
LEH{EE
Al S
QF
bye i . B
] SF ;i - AT
c2 Rl 75
SHE=
S8 - LAt
aF 50 BES BIET
B2 HIEE R SEP S
R SEP S 3 - BLAY
o BUIBAER " 61 SRS HEHE
QF A1l - S [F]
64 3 EREF
AD KHFEA 5 EIRER
BEX & SF U - P
bye 61 343 /i)l B AR ER
QF
c1 AR




